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ASL gl Sk b (F— V) e
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reorder(A): a, b, ¢, f, g, h, j, k, d, e, 1,1, m

o ez © \& Sl wdige (5ol
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T\...Tk &}J)ﬁjk‘j?" QJ%T&L})) uflj—é

Pre(T) =r, Pre(Ty), Pre(Ty),..., Pre(T})

Inorder(T) = Inorder(Ty),r, Inorder(Ty),. .., Inorder(Ty)

Post(T) = Post(Ty), Post(Ty), ..., Post(Ty),r

~

:(preorder) o 5 i 49

:(inorder) s 5 oy o9,

:(postorder) s 5y B39,
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reorder(A): a, b, ¢, f, g, h, j, k, d, e, 1,1, m
order(A): b, a, f, ¢, g,j,h, k, d, L, i, m, e
ostorder(A): b, f, g, j, k, h, ¢, d, 1, m, i, e, a

o dezws © YA Sl edige (5ol

53 $9) p» Jlesl

(sl o T00t[T]) XS 0 sl T o 555 S MAKEEMPTY(T) o
A el 2RI BY)

Wl B o 1, T &5 gadsy ROOT(T) @
oJf IS W5 16398

.\Sbjfdoﬁ T osys yslyv ge o4& (PARENT(T,v) @
null b o 8 1 g 5 0 8 5 355 1655,

Wls B oy T 555 y3 1,0 4o 8 X33 ol (LEFT-MOST-CHILD(T, v)
null b o 81 g 5 0 8 5 355 1655,
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preorder(A): a, b, ¢, f, g, h, j, k,d, e, i, 1, m
inorder(A): b, a, f, ¢, g, j, h, k, d, 1, i, m, e
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’REORDER(T’, p)

~
pe)ijc.&J:uiiLaﬁ_

1 if p = null

2 then return

3 PrINT ELEMENT(T, p)

4 p«— LEFT-MOST-CHILD (T, p)

5 while p # null

6 do PREORDER (T,P)

7 p < RIGHT-SIBLING (T, p)

o dae © vy F ol i oKl

NORDER(T, p)

1

© 00 N O Ut ke W N

if p = null

then return
n «— LEFT-MOST-CHILD (7', p)
INORDER (T, n)
PRrRINT ELEMENT(T', p)
n «— RIGHT-SIBLING (T, n)
while 7 # null

do INORDER (T, n)
n < RIGHT-SIBLING (T, n)

o ez © YY Sl wdige (5ol
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i, S0 oo 5 Lol Lionsls
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Kl S oy T 355 53150 Sl y oo 3l (RIGHT-SIBLING(T, v) ®
null o 8 1y B0 8 5 o550 155559
S35 50 345 90 polie dlias [S1ZE(T) @
T 3Ae G Iy oSS0 183059
ol J s LT as LS o paseis ISEMPTY(T) @
w3l b Sy 1 g B (OS50 165950
Kl 8 pplyneS 55 paie o p (ELEMENT(T,n) o
e WIS 5 S 185509
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POSTORDER(T, p)

1

~

if p = null
then return
n < LEFT-MOST-CHILD (T, p)
while n # null
do POSTORDER (T, n)
n «— RIGHT-SIBLING (T, n)
PRINT ELEMENT(T, p)
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VODEHEIGHT(T, p)
> returns the height of p in tree T
if IsEMPTY(T)
then error
height — 0
p — LEFT-MOST-CHILD (T, p)
while p # null

p < RIGHT-SIBLING (T, p)
return height + 1

0 N O O = W N =

do height «— max{height, NODEHEIGHT (T,p)}
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Sl edige (5ol

I Ll b les s gilwesly

NGOV -39 Ol Father 4 90 tad  sal s

258 B Wb sy e 5§ i e gles s ghlwesly

o ez © YA
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CoUuNTNODES(T, p)

> counts the number of nodes in T" with root p

if IsEMpPTY(T)
then return 0
count «— 1
p «— LEFT-MOST-CHILD (T, p)
while p # null

p < RIGHT-SIBLING (T, p)

0 N O O W N =

return COUNT

do count « count+ COUNTNODES (T, p)
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FIND-PARENT(T, T, p)

1595 sl Jos b parent (g3kwosly 1ep jo
TGy d s py 3T SE s 5o p 5

ifp=r

1 then return null

2 ¢« LErFT-MOST-CHILD (T,7)

3 while ¢ # null

4 doif p=gq

5) then return r

6 s «— FIND-PARENT(T, q, p)

7 if s # null

8 then return s

9 g — RIGHT-SIBLING (T, q)
10 return null
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SREATE2(x, T, T))

> creates a tree with x as the label of its root

> and two subtrees T; and T3 (77 # null )
MakeEMPTY (T)

root[T] « Allocate-Node (zx,root[T1],null ,null )
RIGHT-SIBLING [root[T1]] <« root[T3]
parent|root|Ti]] <« root[T]

parentlroot[Ty)] <« root[T]

size[T] — 1+ size[T}] + size[Ty)

return 7'

N O Ot e W =

alises Jlos!

o ez © \id

Sl wdige (5ol

Jalas 29393 5 1o - (solwesly

S Al
label g4 g0 @
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LS oo 0Ll 6,8 OF Csly 5 G 355 49 45 5 la right g left gadd go 53 5,5 a
AL adls ¢ parent G X OV

o dezws © YA Sl edige (5ol

’REORDER(T', 1)
> It is assumed that r is the root of T
1 if r = null
2 then return
3 meet element (7, r)
4 Preorder(T,left[r])
5 Preorder (T, right[r])

o ez © ¥o Sl wdige (5ol

CREATE3(x, T4, 1o, T5)
MAakKeEMPTY (T)
root|T] « Allocate-Node (x,root[T],null ,null )
RIGHT-SIBLING[root[T1]] < root[T}]
RIGHT-SIBLING [root[Ty]] <« root[T}]

parent[root[Ty)] «— root|T]
size[T] «— 1+ size[T1] + size[Ty] + size[T}]

1
2
3
4 parent[root[Ti]] < root[T|
5)
6
7 return T

~
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(postfix) (545 g
E — E\Ey <>
— E<a>
— < operand >

o dezws © Y Sl edige (5ol

\
a+(b-c*d)"e-f g~ (h /-i* k)

o ez © ¥¥ Sl wdige (5ol

(Expression Tree) &l oo s

(infix with complete paranthesis) JolS' 3%l 5 b (g sl

ke bk S

E — (E\<p@>Ey)
— (<a>E)
— < operand >
< «a > — unary operators
< (8> — binary operators
N
ol dozws © A FaplS edigs 5o ISl

E — <B>E\E‘v
— <a>Fbk
— < operand >

~
(prefix) (g s
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(S gy S5l 4 (alS (550 b Loy ) @) (sl le ok
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[FRIT 559 b
~
<ok <,k p
a+(b—cxd)AN—fANgA(h/—ixk) L gle
((a+ (0= (cxd)) Ne) = (f A (g A ((R/ (=) % k)| JolS 5515 b gk gila
abed x —e A+ fghi—/kx AN — S g
—+aA-bxcdeN fAgx*/hik S g

| T A $2909 LA s
a | +(b—cxd)Ne—fANgA(h/-ixk)
a + | (b—cxd)Ne—fAgA(h/-ixk)
a + | ( [ b—cxd)he—fAgA(h/=ixk)
a +( | b | —exd)he—fAgA(h/mixk)
ab +( | — | exd)hNe—fAgN(h/—ixk)
ab | +(—= | ¢ | xd)hNe—fAgA(h/-ixk)
abc | +(— | x | d)NhNe—fAgA(h/—-ixk)
abc | +(—* | d | YAe—fAgA(h/=ixk)
abed | +(—x | ) | Ae—=fAgA(h/=ixk)
abed x — + | A e—fAgN(h/mixk)
abed x — +A e | =fAgA(h/mixk)
abed x —e +A | — | fAgA(h/—ixk)

o dezws © \id Sl edige (5ol
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~
on the top of stack
( — + X / A -
( Pusu Pusa Pusu Pusu Pusa Pusu Pusu
i —| PusH Por Porp Por Por Por Por
n 4| PusnH Por Porp Por Por Por Por
p * Pusu PusH Pusa Pop Porp Porp Popr
u /| Pusa PusH Pusi Pop Pop Pop Por
t A Pusa PusaH Pusa Pusu PusH PusH Pop
- Pusa Pusa Pusa Pusu Pusu Pusa Pop
) | Pop-more Pop Pop Pop Pop Porp Pop
Action[i,j] Jsd>
JESEHRENG) A Sl wdige (5ol

—
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i S50 s g Ll sl
4 ™
STIF | A 639)9 sLeams
abed x —e N + — [ | AgA(h/mixk)
abed x —e N+ f — | A | gNA(h/mixk)
abedx —e N+ f —N g | AN(h/mixk)
abed x —e N +fg =N | A | (h/mixk)
abed x —e N +fg —AN| (| h/mixk)
abed x —e N +fg —AN( | h | [mixk)
abed x —e A+ fgh —AN(| /[ | Dixk)
abed* —e N+fgh | — AN/ | = | ixk)
abedx —e N+fgh | = AN(/-| i | *k)
abed x —e N+ fghi | — AN/~ | * | k)
abed x —e N+ fghi— / — ANk |)
abed x —e N+ fghi— [k —ANA(Gx| )
abed x —e N+ fghi— [k —AA
abed x —e N+ fghi— [k« AN —
N
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done «— true

else write s to postfix
POP(S)

20 while not iSEMPTY(S)

21 do write TOP(S) to post fix
22 POP(S)
o dae © 0e F ol i oKl
’”;”"51;” e g syl lasly
12 do operator «— postfix[i]; i — i—1
13 POSTFIX-TO-PREFIX (i, j)
14 prefix[j] < operator
15 je j—1
o ez © oY Sl wdige (5ol
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INFIX-TO-POSTFIX (in fix)
> Uses stack S, and matrix action

1 intialize-actions()

2 while there is token in infiz
3 do read token c¢ from infiz
4 if ¢ is an operand
5 then write ¢ to postfix
6 else done — false
7 while not done
8

do if isSEMPTY(S)

9 then Push (c, S)
10 done «— true
11 else s« TOP(S)
12 ifc=") and s="(
13 then POP(S)
14 done «— true
15 if action|e, s| =" push’
16 then Push (5, ¢)

b dozws © fq FaplS edigs 5o ISl

-

POSTFIX-TO-PREFIX (4, )

> converts correct post fix[?..i] to prefiz[?..j]

> at the end, ¢ and j are either 0 or

> the last index of the preceeding expressions.
> post fix and prefix are global arrays

> i, j are refrenced variables switch
case post fiz[i] is operand

© 00 N O U W N

—_
o

Je— -1

—_
—_

i i—13j— j—1

do prefiz[j] « postfiz|i]

case postfiz[i] is binary operator
do operator — post fix[i]
POSTFIX-TO-PREFIX (%, j)
POSTFIX-TO-PREFIX (3, j)

prefix[j] < operator

case postfiz[i] is unary operator

~

i1— 1—1

b
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~
'INDR (A4, j)
1 switch
2 case A[j] is a binary operator
3 do count «— 2
4 case A[j] is a unary operator
5 do count — 1
6 default
7 do count — 1
8 r«—j
9 while Count > 0
10 dor« r—1
11 switch
12 case A[r] is a binary operator
13 do count «— count + 1
14 case A[r] is a unary operator
15 do nothing
16 case
17 do count «— count — 1
o dozws © oY Sl edige (5ol

D N
~
OSTFIX-TO-TREE(Z, j)
> Creates a tree for post fiz[i..j]
1 ifj<i
2 then return null
3 n <« ALLOCATE-NODE(A[j],null ,null )
4 ifi<j
5  then r — FINDR(postfiz,j—1)
6 left[n] < POSTFIX-TO-TREE (i,r — 1)
7 right[n] < POSTFIX-TO-TREE (r,j — 1)
8 return n
o ez © oF Sl wdige (5ol

.2 X
i, S0 oo 5 Lol Lionsls

POSTFIX-TO-PREFIX(i, 7, k)

> converts post fiz[i..j] to prefizlk..?]

~

1 ifj <

2 then return

3 ifi=

4 then prefiz[k] — postfix[i]

5 else prefiz[k] — postfiz[j]

6 r «— FindR (postfiz,j — 1)

7 Postfix-to-Prefix (i,7r — 1,k + 1)

8 Postfix-to-Prefix (r,j —1,r —i + k+ 1)

o Lo © ov G5B i eIl

i S50 s g Ll sl

18 return r
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POSTFIX-TO-TREE(j)
> Makes a tree for postfix[?..j]
> j is assumed to be a reference variable
n < ALLOCATE-NODE(A[j],null ,null )
switch
case post fix[j| is a binary operator

doj«— j—1

1
2
3
4
5 right[n] < POSTFIX-TO-TREE(j)
6 je—7—1

7 left[n] « POSTFIX-TO-TREE(j)
8 case post fix[j] is a unary operator

9 doj«— j—1

10 right[n] < POSTFIX-TO-TREE(j)

11 return n
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